Name______________________________
CLASSWORK EXERCISE – CHEMISTRY HONORS
Atomic Structure & Atomic Mass
1. The number of protons in one atom of an element determines the atom’s ____________________.  In a neutral atom, the number of ____________________ and ____________________ are equal.
2. The ____________________ ____________________ tells you the number of protons in one atom of an element.  It also tells you the number of electrons in a ____________________ atom. 
3. The ____________________ ____________________ of an element is the average mass of an element’s naturally occurring isotopes.  It takes into account the ____________________ of each isotope.
4. Isotopes of an element have the same number of ____________________ but different numbers of ____________________.  Hydrogen has three isotopes named ____________________, ____________________, and ____________________.  ____________________ is the most abundant isotope of hydrogen and ____________________ is the least abundant isotope of hydrogen.  The average atomic mass of hydrogen most closely resembles the mass of ____________________.  Hydrogen is the only element that has specific names for its isotopes; specific isotopes of other elements are called ____________________.
5. The ____________________ ____________________ and the atomic number can be used to calculate the number of neutrons in one atom of an element.  In order to do the calculation you must subtract the ____________________ ____________________ from the ____________________ ____________________.
6. For the most abundant isotope of hydrogen, the mass number and the atomic number are ____________________.  For the least abundant isotope of hydrogen, its mass number is _____ times larger than its atomic number.
7. Give the symbol and number of protons in one atom of:
a. tantalum	symbol: __________		protons: __________
b. tin		symbol: __________		protons: __________
c. curium	symbol: __________		protons: __________
d. hafnium	symbol: __________		protons: __________
e. holmium	symbol: __________		protons: __________
f. lawrencium	symbol: __________		protons: __________
g. mendelevium	symbol: __________		protons: __________
h. palladium	symbol: __________		protons: __________
i. terbium	symbol: __________		protons: __________
j. thulium	symbol: __________		protons: __________
k. ytterbium	symbol: __________		protons: __________
l. chlorine	symbol: __________		protons: __________
8. Determine the number of neutrons in each of the following atoms.
a. iridium – 192		neutrons: __________	
b. sulfur – 32 		neutrons: __________
c. lutetium – 175	neutrons: __________
d. dysprosium – 163	neutrons: __________
e. samarium – 150	neutrons: __________
f. gold – 197 		neutrons: __________
g. astatine – 210 	neutrons: __________
h. calcium – 40		neutrons: __________
i. titanium – 48		neutrons: __________
j. lead – 207 		neutrons: __________
k. lithium – 7 		neutrons: __________	
l. krypton – 84		neutrons: __________
9. The notation used in problem #8 is called ____________________ notation.
10. Name the ELEMENT with the following numbers of particles.  Spell the name correctly.
a. 32 protons				name: ____________________
b. 33 electrons in the neutral atom	name: ____________________
c. 94 protons				name: ____________________
d. 9 electrons in the neutral atom	name: ____________________
e. 1 proton and 0, 1, or 2 neutrons	name: ____________________
11. If you know ONLY the following information, can you determine what the element is using a periodic table?  Write yes or no for each part.
a. atomic number		__________ 
b. mass number			__________
c. number of protons		__________
d. number of electrons		__________  (hint: not all atoms are neutral)
e. number of neutrons		__________
f. average atomic mass		__________
12. Write the atomic symbol with a superscript to the left for mass number and a subscript to the left for atomic number.
a. 
b. iridium – 192				
c. sulfur – 32 		
d. lutetium – 175	
e. dysprosium – 163	
f. samarium – 150	
13. 
14. Use the information in the table to calculate the average atomic mass of silver.  Calculate this on a separate sheet and staple it to this sheet.  Write your answer with 2 decimal places.  SHOW WORK!
	isotope 
	isotope mass (amu) 
	abundance 

	silver-107 
	106.90509 
	51.86% 

	silver-109 
	108.90470 
	remainder 


15. 
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